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— -~ Find the derivative of the following functions..............cooiiimiiinn. 10%

1. f(x)=0@x-2x*)
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2. fx)= = )

m - Find % of the function (r+)° =% +3° 8t (-1, Divrverereeverererenenens 10%

% ~ Find the indefinite integralS.........o.oviiuiinieiii e 10%
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~ ~ Use a double integral to find the area of the region bounded by y = X, p= XV "
and y= %C , and the area is located within the first quadrant.( [n2=0.6931)... 10%

£ ~ Using Lagrange Multipliers to find the maximum of ¥ =xyz, subject to the
CONSFAIN 6X+4Y+32 =24 =0 0uiuiriuaininrniiiirenare e 10%

A ~ Solve the equation (Logistic Growth Function, hint: to fine y=2)....cc0nises 10%

%: ky(1-y), Assume y >0 and -y >0
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# ~ The production function for a company is  fx,y) =100x
where x is the units of labor and y is the units of capital. Suppose that labor unit
costs $150 and each capital unit costs $250. The total expenses for labor and
capital cannot exceed $50,000.

(1) Find the maximum production level.

(2) If $70,000 is available for labor and capital, what is the maximum number of
units (production level) that can be produced.

(Hint : M arglmal productivity of labor _ un-zt price of labf)r ST 10%

M arginal productivity of capital  unit price of capital




